
450 SXS-F 2007 <2007><EU><8400G1>
WIRING HARNESS

4501

Pos Part Number Description Additional Text Quantity

1 77339031100 CDI UNIT KOKUSAN 450 SXS-F 07 1.00

2 0023060123 COLLAR SCREW M6X12 TX 2.00

3 77339032000 WIRING HARNESS FOR CDI-BOX 1.00

4 77311075000 MAIN WIRING HARNESS 450 SX-F 1.00

5 58511053000 BATTERY 12V 4AH YTX5L-BS 0.00

6 78011055000 BATTERY CASE EXC 08 0.00

7 77311053000 BATTERY 12V 3AH YTX4L-BS 1.00

8 77311055000 BATTERY CASING 1.00

9 0017060204 EJOT PT SCREW K60X20 ALU WS=6 SX 3.00

10 50303018000 RUBBER L=145MM 1.00

11 58211058000 Starter reley 12V 99 1.00

12 58011109110 Plug-in fuse, big 10A 2.00

13 0902060083 Oval head screw ISO 7380 M 6X8 2.00

14 58711086000 WIRING HARNESS BATTERY DUKE'99 1.00

15 58411097100 GROUND CABLE D=6MM L=140MM '97 1.00



16 0015060103 HH COLLAR SCREW M 6X10 WS=8 FC 1.00

18 77311034000 VOLTAGE REGULATOR ''RS2759'' 0 1.00

19 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00

20 58411059100 STARTERCABLE 700 MM '97 STARTERRELAIS-
STARTERENGINE

1.00

21 0985060003 Self lock. nut DIN985-M6-A2 1.00

22 58440099000 PROTECTION CAP F. STARTER ENG. 1.00

23 44011076100 CABLE TIE 100/2,5MM BLACK 1.00

24 44011076200 Cable tie 200/4.6mm black 3.00


